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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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@ %V ,_/H/ _ \,\OO/{\\Q %/ @!l of thg/‘c:n—sugnm;gkld at }D‘%

Profit & remaining at 6% loss. There is a

‘0 7 V{/ profit of Rs(360.) Find the value of total

(‘j;\oﬂr;si?lzent? &l - th 10% WTH 9T

X O W A 6% gif 9w I=

@ AT | FA 360 IIA FT A T FA
| [r ov Q9 FT m AT FSA?

(a) 6000 (b) 5000 (c) 4000
(d) 3000 (e) None of thesec
N ‘
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17. _;6’__; and the

remammg at a profit of 20% then his
proflt on the whole is equal to k1 -

= amr 17.5% & &TH X
r 20% ¥ AT 9T g, ar

FT IHST T ¥4
7) 15.5% (b) 16% c) 16.5%

9

(d) 17% (e) None of these
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(b
(gocaﬁ(

DSNL charges a fixed rental of Rs. 350/month. It
allows 200 calls free per month. Each call is charged at
Rs.1.4 when the number of calls exceeds 200/month
and it charges Rs.1.6 when the number of calls
exceeds 400/month and so on. A customer made 150

5 5O

U R
g/\gfo

(),

b 2 '/S\M

calls in February and 250 calls in March. By how much
percent tné each call is cheaper in March then each

call is/ February? 3THTATH 350 39T Wi HAE &I
Afaa. ot aar &1 3§ 9fa #E 200 & r
AFT A FqAfT a1 ¥ FE FA H
200/ ¥ IO+ @ St & ar v_F
14 397 FT Yo& foar Jar § AR I«
&A1 400/ATE & 3% & S & at
T 1.6 39X FT Yo forar e g,
a BIEd FA 150 Frer AT A A 250
| AT & UAF ST BEU HA TAF Fid
gfaera a&dr
A)28% B)25% c)18.5% d) None of these
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@an article for Rs 900

Had it been sold for Rs

#wmaﬁ
gﬁwa‘mlmsﬁzoo
sﬁ#mma‘rmﬁm

é:mmmr-ﬁwnms’lan CP &I
‘THT?-MTQ’?

(a) 1150 - (b) 900
— (c) 1250 (d) 1500
(e) None of these

A shopkeeper
at some loss.
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Vé—)‘%:( C{OC’A Shopkeepern article for Rs 800

+.-

at some | Had the same article sold
at | Rs 1400 lthen Theéprofit)w uld be

s) of loss before. Find the if the

article sold at a 1%57

A TF IF] F FO g W 800
9 ¥ T IR @@ awg 1400
IqX FH AN AT ar A g e
&1 aEreT giar Ife avg 10% #ife
gy adt ¥ ar sp AT Hfaw?
(a) 800 (b (c) 1000 (d) 1100
(e) None of these



A shopkeeper sold an article at Rs 1400
for some loss had it been sold

hereis a it which i @
more than th@:arher Find-t .L@
of the article if it sold at 6 7 @‘
U&h THEGR o Tdh T

A A $T gl © é'rJT gfe s#
4800 9 # i’ﬁn ar T S
gIdT Uga I g & 12.5% 3=+

gram ¥ afX gEg 6 wErfe W AR
ST & ar 34 sp.'rna ffT?
(a) 3000 (b) 2800 (c) 3200

(e) None of these
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A man n article at 10% Profit on
Selling Price, Afterwards, both Cost

A \’) ) 5P 3 > & Selling Price were reduced by
3 ~ \ | 00 Flnd the Profit%? U& qfad
\

jO\

TH I H @ qo¥ W
10% T8 9T 91| qE A, aHId
Aeg R @ Jew Q= 7 20%
# FA N A A% A
A2 |
(a) 11.11% P . (b) 10% P
c) 12.5% P (d) 20% P
(e) None of these

90\
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A Shopkeeper s o[ an article at 20%
Profit. If Both(CP 8(SP are reducs

Rs 459: now the Profit becomeg

Find the initial CP? TU&h ¢c
TH aFq T 20% HTH 9T 9%
!lﬁ! cp 3T spa¥at #F 450 3T

(b) 4500
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A Shopkeeper sold an article at 16% %

loss. If CP is reduced by Rs 1000 & SP

reduced by Rs 300 then Profit
becomes 10%. Find the initial CP. Ush

§§5FREIIIQ'EEF'31¥T?E# 16 % BITeT
W 991 I AFTT JAed # 1000
9 3T sp & 300 IGX F FaA
T AT & ar AT 10% B AT
gl YRS dnrd J{ed A Hifae
(a) 2000 (b) 3000

(c) 1500 (d) 1800

(e) None of these
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A Shopkeeper sold an article at 16 % %

loss. If CP is reduced by Rs 500 & SP

increased by Rs 500 then Profit
becomes 20%. Find the initial CP. Th

m#wmm’ns % giel
Wmluﬁcpﬂsooma‘h
m&m%mspﬁsoom
$r g i Tt g, ar A 20%
2 Srar ¥ yRAE @ @

(a) 2000 (b) 3000 (c) 1500
(d) 1800 (e) None of these






